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QUESTION 1

A company has four departments. Department A has SO PCs, Departments B and C both have 20 PCs, and
Department D has 30 PCs. Assuming the IP address 192.168.1.0/x is used, which of the following statements are true if
the VLSM technology is employed for subnetting? (Select 2 answers)

A. Plan subnet 192.168.1.0/25 for Department A. The range of host addresses is 1 to 126.

B. Plan subnet 192.168.1.128/27 for Department B. The range of host addresses is 129 to 159.

C. Plan subnet 192.168.1.160/27 for Department C. The range of host addresses is 161 to 190.

D. Plan subnet 192.168.1.192/27 for Department D. The range of host addresses is 192 to 222.

Correct Answer: AC

QUESTION 2

If the default-route-advertise command is used to advertise a default BGP route to peers, how will this operation affect
the local BGP routing table?

A. An inactive default route will be generated in the local BGP routing table which will not be delivered to the IP routing
table.

B. An active default route will be generated in the local BGP routing table which will be delivered to the IP routing table.
C. The local BGP routing table will not be affected and no default route will be generated.

D. A default route will be generated in the local BGP routing table. Whether this route is delivered to the IP routing table
depends on route selection results.

Correct Answer: C

QUESTION 3

Which of the following statements is false?

A. The Type-1 external metric is the sum of the external metric and the internal cost to reach an ASBR.
B. The Type-2 external metric uses only the AS external metric.

C. The metric of an external route is the sum of the AS external metric and the AS internal metric.

D. The effects of setting Forwarding Address to a non-zero value is that the next hop of the external route imported into
OSPF is within the OSPF routing area.

Correct Answer: C

QUESTION 4
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When a routing protocol import routes discovered by other routing protocols, it must import only the routes that meet the
conditions and set attributes for the imported routes. In such a case, a route-policy can be created.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 5

Only Router-LSAs and Network-LSAs are involved in intra-area route calculations.
A. TRUE

B. FALSE

Correct Answer: A
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